MATH 364 : Lecture 22 (10/31/2024)
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3. (25) Gaseous Chemicals makes three chemicals A, B, and C, via two processes.
Running Process 1 for an hour costs $4, and yields 3, 1, and 1 units of A, B, and C,
respectively. Running Process 2 for an hour costs $1, and yields 1 unit of A and 1 unit
of B. At least 10, 5, and 3 units of A, B, and C, respectively, must be produced in
order to meet demand. Determine the daily production plan that minimizes the total
daily cost for meeting the demands of Gaseous Chemicals using the graphical method
to solve LPs.
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